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Exponential Function ]

.

f= {(xy) ERXR" |y = aF dloa>0uaz a # 1}

Hefdudin - a> 1 feiduan : 0<a< 1
X 1 x
Ex. y = 2 Ex. y = (5)
Y Y
A A
(0,1) (0,1)
> X > X

Note :

1. Wudaitunilasands

2.Df=R,Rf= R+
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Logarithmic Function J
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g = {(xy) ER"XR|y = log,x Jo a>0uay a # 1}

ety - a> 1 Handuam : 0<ac<1
Ex. y = log,;x Ex. y = log%x
Yy Yy
A A
> 1) > X
(1,0)

Note :
L3
1. Wuilantuniiasonis
== + —
2D, = R*,R;= R
3. WedtuasnBdRuduiaituduneavesiedtuandlniuudioa
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[ AuUGYOV Logarithm }

fnua a, b, ¢ Wusuuasaundildwiniu 1 wer m, n >0

1. log,1 = 0
2. logza =1
3. log,(mn) = log,m+log,n “log Naqiulﬁmauaﬂ log”
4. log, (%) = log,m —log,n “log wansldwad1a log”
5. logpya* = Elogba
6. al°8m = p
7 glogym  — logya
8. logya = ;Zg%
9. logpa = loglab
DAY
1. logh = 1—-log2,log2 = 1-1log5

2. log2 = 0.3010, log3 = 0.4771
3.Inx = logex, e = 272

4. logZzx = (log,x)?
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Problems
1. fvuald A = V7¥5, B = 5¥7,C = V5vV7 waz D = V75

%aiﬂﬁalﬂﬁgnﬁaq
1. D>C>A>B 2. A>C>B>D
3. A>B>D>C 4 C>A>D>B

2. fdmun a = 2%, b = 3% uaz ¢ = 5% Yelaseluiigndes

1 1 1 1 1 1
1E>Z>; 2';>E>E
1 1 1 1 1 1
3.g>;>z 4.;>E>E
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3. AualE 1 UNULYRveId ULy
WS = xel/x—3x+ 1D = 1} udwmauinvesEudn

Navualue S winduwinle

4. NaUINTBIIUIUTY X %&ﬂuﬂﬁﬁ@ﬂﬂﬁ@dﬁu&iuﬂ’ﬁ
(2% —4)3 + (4% —2)% = (4% + 2% —6)3 danils
1.2 2. 25 3.3 4. 3.5
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5 M xy war z Judnuduuinidenndesiu x+y+z = 16

yr = x2040 yay 3V = 3(9%) udmmaanwed xyz wiuiile

6. MAUA A WNUWRAMEUYBIEANNS 31T2X 4 927X = 244
W A Wuduesvestdadelul
1. (=1,4) 2 (=2,0.5) 3. (0,5) 4. (=3,0)
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7. MAUA A WNUEHANEUVDIANNS

5+4+4x—x2

5(1+\/x2—4x—1)_|_5(2+\/x2—4-x—1) = 126

NAUINVDIFUNTNIUEN A VIRUANAUWINLS

, 1 1 1
o o o = — = v + | '
8. 1 x v,z Wudwiuade leedl 8x = 279 = 36z udr =2 fawinle
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o 1nX 1\x-1 o o -
9.  agung (Z) +(E) +a = 0 dawoudlui uiuasiuin

WAANUDY a ﬁLfluiﬂvLﬁagJi‘LmiN%’a‘LmiaMﬁ
1. (—,3) 2. (-3,0) 3. (0,1) 4. (1,3)

10. Suppose that a, b and c are positive real numbers such that

aloss” = 27, plog7ll = 49 and clogu?s = 11

Find ao8s7)? 4 p(ogs11)® | (10g1125)°
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11. Awmualiauns (log,x)® +101;2 = 7(logix)?
X 2

WHINAUINVDIANNDUTNAUAYDIFUNTT
1. 8 2. 16 3. 24 4. 25

12. Suppose the number a satisfies

aloga + log(log a) — log(log(log 2) — log(loga)) = 0
What is the value of aa*

1.1 2.2 3.4 4. 8 5. 16
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13. 41 x waz y Juswiudssuinfdennassiuaunis

50-2%27% = (16)6* o A = —2¥
logx

Wa Aee x+y wihiuwile

14. §1 x way y Wudwuade leefl x2 +2xy = logx* + 2log x¥
2/ E = %
wan 2v dawiiudels

1. 4 2.

3.2 a.

e
il

N |

11
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15. 90LARDNAUINYBIAINBUNINUAYDIALNS

3logzs
3log32)

log,x +2log,2 = glogz(
1. 3 2. 4 3.5 4. 6

16. fmueld A wnuwadmouvesaums logs (3342 +9) = x2 4 x+ —

warli B = {x?|x € A} WauNv0ELINVIualues B wirduwiile
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17. fosandernusolld
n. (log2557)1082557 < 25571082557 < 25572557
7. (log2557)'°82557 < (log2557)2557 < 25572557

tolaraluiignaas
1A gn uay . Qn 2. 0. 90 way 9. fn
3. 0. WA way . an 4. n. WA BaT 2. WA

18. 11 logyx + logyy = 1—; way xy = 256 uad x+y wiuwile
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19. T R wyNanu99snuIuse
M A= {x€R|logz(x—1)—logiz(x—1) = 1} uaz
B= {xeR|Vx+1++vx—1 = 2}

wnauvinvemannuasandnluen A U B visvuawiniuritla

20. W A Jueeineuvesaunis
log(Vx+1+5) = logx

= o
wae B UulgnAneuueIdunis

log,(3x) + log,(9x) + logg(27x) = 3+ 2logg.(X)
Na@mmmam%ﬂﬁgwmiumm AUB winfuielaseluil

12 16 32
1. — 2.— 3. —
9 9 9
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o [ ° < = b
21. W a waz b Wudwiuwdu @3 alogysy5 + = 3
log,250
Awee a+2b assiudeladelul
1. 13 2. 15 3,17 . 18

22. mvua f(x) = log,x fsandenuseluil
n. Aswvesidy g(x) = f(9-2%) Wudunss

9. nywlvesladty h(x) = 9 - 2f*+D | Fuwasaluan

dolagn

LA gn uaz v 9n 2. 0. 90 uay
Y Y Y

3.0 WA uaz 9. gn 4. N @R way
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23. 1 R unugnu9991UuIuase

o - N 3 (5x%2-23x+3) 5 (x+5)
0 A LUUSAAINDUVDIDANNNST (E) > (g)

uadr A Wudueluteladalydl

1. xeR|(Gx—1(x-3) <0} 2. {xeR|Ux—1)(x—4) <0}
3. {xeR|(2x—1)(x—5) <0} 4. {xeR|x—1] <2}

24. 01 S; = {x|logi(x+ 1)+ 2logi(x+ 2) —log:(9x — 3) < 0}
2 4 2

waz S, = {x|x ludwaufuds —10 < x < 10}
w1 Sy NS, Fwuaudnuiiuteladeluil

1.5 2.6 3.7 4. 8 5.9
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25 iuald A = {x € R| 22X — 2¥*2 > 2% —/32}
4' o = o = d' 2 o @
WMo R WIUEATE99IUIUDTY IUUau TN U U ULANTD %N R — A
winrdudalasalull

1.1 2. 2 3.3 4. 4

26. 01 S = {x|x duduudunaeardssiusauns log x(x — 15) < 2}
warduandnues S wiriutlelanelull

1. 10 2. 12 3.14 4. 24 5.

26
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